X0
MT W o of
oo A ° % S %0 R\
. - = 00 ) .ﬂu M 5 WH_ A RO
KT . g S =4 0 z 3
= i = oy 0 ||
= _@m|5_cmg@m+_ T g ms 3R
ol = m o ) E] S n
Hi0 < RU 0% ~ U o3 = AT = H K &
®r RIS KO 15 W_ o T s W W KO M ol = o ok 5
= LT A W o= < 5 o o " 5w o2 =
wmemmmggm4mh_§__ mow oo M n o 2
o = . m n = vy _ ol O 5 = =
ak o K o = B 180 SR F K ol M_._. i 8l B R m_u
3l g A o =0 B ool T % 4 om 5 5 ol a0
= e = OH Ko 5 ™ 0 JE Al - M. o Moz 3 ol
D 0 =5 [T W =5 3 il M o foll @ WUl S RN R
OH El Dt o 7R R <l W o oo O o R
= . ) ¥ = _ @gaoelmmgw
O = & = Kl & F = u 2 B0 o} kU0 2 Y ™
" = 2 BN g M 3T o = W E._ = i K = w.: =
ol 0 a_n_qgﬂ%@.a@x %ua@ggwmmwﬂ
p o E el = @ 3 K e e r O 0= 3 o W
0 rE oo wom 3 R R = 2 2 O O = M IF
o + gmmommomwu;z tﬁﬁo.ﬂﬂafo_c
i wm,m%m;wo_a _w_m:o__g#wuwot
oF = Rr Ky 3r o ol (A0 &+ __Aﬂ ) WO 4 al = o3
i 0 o o ol TR o 53 . ko oo B W S R & M
™ Ou_ |_No = T T _J_l L 20 S ol n__._ H__l = L - R o KO O )
= et = o) 5 = < T x © = AU 80 n
= 1 XN A Foa M D = = o 00
7 I I B @D om 5 Aow ¢ o=
#r K= 5 © M U o W I o B oA O oF o
" = s W S 5 oq ool Fonm 9= nopwC =
- R mooowom "oH 2 <0 = R R A ioar D
oF) a o 2 o3 ag, = w = L ol
< or o = o ki ol M m”. ol K moor R ol 3 O
R ﬂ@z%wﬂﬁ@_m i am_mém;ﬂ_l:ol_ua
LI ?A_M|xem50mmﬂxao go%%o_mm_aﬁ%MW|
= | o) E A r @u o ol ol - 5 w__u= kK] zr Ol KO Ko & [T o
o @u._ A.__l [[e} = oF &l o o N ™ 70 E__. _ = |_..A.D
- ar ol o - Al o . 3T o = 3 Ol o D|_ &0
. 5w = I w S O ol RES) o <
— ) A._ 0 _ _ E_E — A_l . % o _.._I _._rO .__._ On_ |~ o = .__._ J
o K o2 R B KO 3 o3 M ® o &l KoJ R0 o o i
AR E B N S T wos oA v U
mm] _ J—
S o RO = Mo = Muo TS = o S =
< ok mw o~ Kk of m X RT
1 Mos &
w0 =



o

AMAUEO LM
AOIZ WHOIA

—_

ol

ol
i00

Z Ot AIZHOl

2oue

CtE ot

—

—

IE1

I
=

A2 OICIot

=
—

OICH.

cc st

2

ol Jts&

=

S Aot A
=

clot HOoi

HA 020tz &

3

330 .

=
R

&l

| & OICIOt2= 2ot

S

90 wm& [ 0.7

ol

=3
S

ol
RO
K

150 wm [ 0.8 cm,

IXtADIJF 200 um [ 1 cm,

HIA

&< OiCIor &

K1
Ar

Bl
R0
ol

o

o]
Kl0

oI CI Ok

2 LIEFSCH.
310 um O]

[e)

0l

s

ol
ki

cm Olote&

tel =20 0te

¢}

ol 2
=

HOd

110

-
i
—
[

—

pS|

g0l A
=AU

=

=

EN =

e ==HMH
ULCH.

=22+ 380 mmHg A &0t

% ¢

PN
[

& O O

SOl
Xt

PN
=]

H

T 15 cm O] At

0

o210 dl
S OI100 di

5t

O
OlM&E =

&0t

150 um O]

o

=g
B CI Ot

0

OH

FX

PN
(=}

2
[

3

=

0

OlAI&

=
—

X4l

ul
101 SE0A EHI12t 2 Al BICIOt

M
=

=2 ol

BHel dxdol o

=

H O S0 4A=EHUA2H, 1

OIME = D12l oF 75%, 5

2o
ST

HE

&

L

00
ol

=
A

&l

b O

—

S

He=S <

o3
<+
ioll

=

u
=

KO
=

Ju
0%

|Lt
230l2t JICHE C.

=
=



